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Zasilanie z Tr-1 

3x(3x1YKXS240) + 2x1xYKXS240
Zasilanie z Tr-2 

3x(3x1YKXS240) + 2x1xYKXS240

3x(3x1YKXS240) + 2x1xYKSX240
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PRZEKŁADNIKI :

A = 1500/5 A/A Ith=25kA ; kl.0,5 ; 2,5VA ; FS=5 - szt.3

B = 1000/5 A/A Ith=25kA ; kl.0,5 ; 10VA ; FS=5 – szt.3

C = 1000/5 A/A Ith=25kA ; kl.0,5 ; 2,5VA ; FS=5 – szt.1

D = 1000/5 A/A Ith=25kA ; kl.0,5 ; 2,5VA ; FS=5 – szt.1

E = 1500/5 A/A Ith=25kA ; kl.0,5 ; 2,5VA ; FS=5 - szt.3

F = 1000/5 A/A Ith=25kA ; kl.0,5 ; 10VA ; FS=5 – szt.3

G = 1500/5 A/A Ith=25kA ; kl.0,5 ; 2,5VA ; FS=5 - szt.3

H = 1000/5 A/A Ith=25kA ; kl.0,5 ; 10VA ; FS=5 – szt.3

Na odpływie „ARESZT” zainstalować przekładniki 

I = 200/5 A/A ; kl.0,5S ; 2,5VA ; FS=5 – szt.3 wraz z 

przynależnym licznikiem 
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